



姓名: _____

日期: _____ 分数: _____

$$\left(\frac{3}{5}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{6}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{1}{6}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{5}\right) =$$



姓名: _____

日期: _____ 分数: _____

$$\left(\frac{3}{5}\right)^2 - \frac{1}{6} = \frac{29}{150}$$

$$\left(\frac{1}{6}\right)^2 - \frac{3}{5} = \left(-\frac{103}{180}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{3}\right) = \frac{5}{24}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{3}{4} = \frac{13}{16}$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{4}\right) = \left(-\frac{3}{4}\right)$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{3}{4}\right) = \frac{13}{16}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{4} = \left(-\frac{75}{64}\right) = \left(-1\frac{11}{64}\right)$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{2} = \frac{127}{250}$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{5} = \frac{2}{125}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{109}{250}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{6} = \left(-\frac{1}{150}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{19}{25}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{4} = \left(-\frac{3}{16}\right)$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{4}\right) = \frac{3}{4}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{2}{5}\right) = \frac{37}{80}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{45}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$

$$\left(\frac{1}{6}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{3}\right)$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{5}\right) = \frac{93}{80} = 1\frac{13}{80}$$